P2

BRAT

AX 7 55 A PR LA B RE
2 R 614 201 g =) 88. 77 1503075 Rk E
2 RIS 6H5 202 % i 69. 55 1173186 ARk E
B FERIBE 61 204 P Fg ) 69. 74 1162722 KiEE
2 RIS 6H5 205 [ 7 5 69. 55 1150722 ik E
AR 6k 206 U] = 88. 77 1547105 ARk E
% R A3 61 301 N = 88. 77 1539915 Rtk E
2 RIS 6H5 302 % i 5 69. 55 1202050 i E
2 RIS 615 303 5 i 69. 74 1207007 ARk E
2 RS 615 304 [ i 69. 74 1177716 KiksE
2 RIS 615 305 [ 7 53 69. 55 1165675 ik e
2 R 6k 306 i3] = 88. 77 1575068 HKikE
T FERIBE 61 401 R = 88. 77 1541246 R E
2 RS 65 402 5 i 5 69. 55 1203093 RIEE
2 RIS 6H5 403 5 i 5 69. 74 1208053 ARk E
2 RIS 65 404 [ 5 69. 74 1178763 ARk E
2 RS 65 405 [ 7 55 69. 55 1166718 KikE
ZJa PR3 61 406 (] = 88. 77 1576399 KikE
AR 61 501 g = 88. 77 1542578 Rk
2 RS 65 502 % i 69. 55 1204136 KikE
2 RIS 65 503 5 i 5 69. 74 1209099 i E
2 RIS 65 504 [ Wil 69. 74 1179809 ARk E
ZJEFERBE 61 506 [ = 88. 77 1577731 Rk sE
ZJEFERIBE 61 601 R = 88. 77 1543909 KikE
2 RIS 65 602 5 7 69. 55 1205179 Kk E
2 RIS 65 604 [ i 69. 74 1180855 AR E
ZJE FERBE 61 606 (] = 88. 77 1579062 LU SE
2 AR 614 701 g = 88. 77 1544797 Rk E
2 RIS 65 702 5 i 69. 55 1205875 ARk E
2 RS 6H5 703 % i 69. 74 1210843 KikE
ZJEFERIBE 61 704 ) ) 69. 74 1181901 ik E
2RI 6 706 TR = 88. 77 1580394 Rk E
2 RS 615 802 % i 69. 55 1207266 KiksE
ZJEFERIBE 61 804 77§ ) 69. 74 1182947 ik E
2 R 6k 901 *Ed = 88. 77 1548348 HKiksE
2 RIS 65 902 % i 69. 55 1208657 R E
2 RIS 615 904 [ 7 55 69. 74 1183993 KikE
2 AR 6k 906 i3] = 88. 77 1583057 LU E
ZJEFERIBE 61 1001 A = 88.77 1550123 Kk E
2 RS 65 1002 % 5 69. 55 1210048 Kk E
2 RIS 6H5 1003 5 i 5 69. 74 1215027 ik E
2 RIS 65 1004 [ i 69. 74 1185039 ARk E
B RIS 614 1101 R =p 88. 77 1551899 KikE
2 RIS 65 1102 5 i 5 69. 55 1211439 ik E
2 RIS 65 1103 % Wil 69. 74 1216422 ARk E
2 RS ¥ 1104 [ 7 55 69. 74 1186085 Rk sE
ZJEFERIBE 61 1301 R =5 88. 77 1554562 RiEE
2 RIS 65 1302 5 7 5 69. 55 1213525 Kk E
2 RIS ¥ 1303 % 5 69. 74 1218514 ARk E
ZJE FERBE 61 1401 KR = 88. 77 1555893 KikE
2 RS 6H5 1402 % i 5 69. 55 1214569 ik E
2 RIS 65 1403 5 i 69. 74 1219560 ARk E
2 RS 6H5 1404 [ 7 55 69. 74 1189224 Rk E
ZJa PR3 61 1405 [ 5 69. 55 1177151 ik e
2 RIS 615 1502 5 i 69. 55 1215612 ARk E
ZJEFERBE 61 1504 [ 5 5 69. 74 1190270 RikE
ZJEFERIBE 61 1602 L ) 69. 55 1216655 LUk E
2 RIS 6H5 1802 5 7 5 69. 79 1222598 Kk E
T FERIBE 61 1803 A )5 69. 98 1227606 R E
7 FERBE 61 1804 ] 5 69. 98 1197165 KikE
2 RIS 6H5 1902 % i 5 69. 79 1224343 ik E
ZJEFERIBE 61 2002 R )57 69. 79 1226088 ik sE
T FERBE 61 2004 ] 5 5 69. 98 1200664 KikE
ZJEFERIBE 61 2102 L ) 69. 79 1227832 Kk E
2 RIS 65 2104 [} 7 55 69. 98 1202413 ARk E
BRI 61 2202 R L 69. 79 1229577 KikE
7 FEABE 61 2204 [ 7 69. 98 1204163 KiksE
2 RIS 65 2302 5 Wil 69. 79 1231322 ARk E
B JEFERBE 61 2304 PR 5 5 69. 98 1205912 Rk sE
7 FERBE 61 2401 i = 89.13 1580474 KikE
2 RIS 615 2402 5 7 5 69. 79 1233067 ARk E
ZJEFERIBE 61 2403 A )7 69. 98 1238103 ARk E
ZJE FERBE 61 2404 ] 5 5 69. 98 1207662 KikE
2 AR 6k 2406 7iE = 89.13 1605520 LU E
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2 RIS 6H5 2502 % 7 5 69. 79 1234811 K E
2 RIS 6H5 2603 % i 69. 98 1241602 ARk E
2 RIS 615 2604 [ 7 55 69. 98 1211161 KikE
2 RIS 6H5 2605 [ 7 55 69. 79 1199009 ik e
2 RIS 65 2702 5 i 69. 79 1238301 ARk E
2 RS 6H5 2704 [ 7 55 69. 98 1212910 RikE
2 RIS 6H5 2802 % i 5 69. 79 1240046 i E
2 RIS 615 2804 [ i 69. 98 1214660 ARk E
2 RS 615 2902 % i 69. 79 1241790 KiksE
2 RIS 615 2903 5 i 5 69. 98 1246851 LUk
2 RIS 6H5 2904 [ 5 55 69. 98 1216409 HKikE
T FERIBE 61 2906 [ = 89. 13 1616661 R E
B FERBE 61 3001 ERC = 89.13 1593844 LU SE
2 RIS 6H5 3002 5 i 5 69. 79 1243535 ARk E
2 RIS 65 3004 [ 5 69. 98 1218159 ARk E
2 RS 65 3005 [ 7 55 69. 79 1205988 KikE
ZJa PR3 61 3006 (] = 89.13 1618889 KikE
AR 6k 3101 i = 89. 13 1596072 ARk E
2 RS 65 3102 % i 69. 79 1245280 KikE
2 RIS 65 3103 5 i 5 69. 98 1250350 LUk E
2 RIS 65 3104 [ Wil 69. 98 1219908 ARk E
2 RS 615 3105 [ 7 55 69. 79 1207733 Rk sE
7 FERBE 61 3201 R = 89.13 1598300 KikE
2 RIS 65 3202 5 7 69. 79 1247025 Kk E
2 RIS 65 3204 [ 7 53 69. 98 1221658 Rk sE
2 RIS 6 3205 [l 7 69. 79 1209478 ik sE
2 AR 6k 3501 #Ed = 89.13 1603648 KikE
22 RN 65 3502 Ky Wi 69. 79 1251212 ik sE
2 RS 6H5 3504 [ 7 55 69. 98 1225857 RikE
7 FEABE 61 3505 [ 5 5 69. 79 1213665 ik e
2 RIS 615 3602 5 i 69. 79 1253655 ARk E
2 RS 615 3604 [ 7 55 69. 98 1228306 RikE
ZJa FERBE 61 3605 [ 5 69. 79 1216108 ik e
2 R 6k 3701 *Ed = 89.13 1609887 HKiksE
2 RIS 65 3702 % i 69. 79 1256097 R E
2 RIS 615 3703 5 i 5 69. 98 1261196 KiEE
2 RIS 6H5 3704 [ 7 5 69. 98 1230755 ik E
ZEFERISE 645 3706 ViEd = 89. 13 1599281 ik sE
B JE FERBE 61 3801 R = 89.13 1613007 KikE
2 RIS 6H5 3802 5 i 5 69. 79 1258540 ik E
AR 6k 3806 U] = 89. 13 1602400 ARk E
B RIS 614 3901 R = 89. 13 1616126 KikE
2 RIS 65 3902 5 i 5 69. 79 1260983 ik E
2 RIS 65 3903 % Wil 69. 98 1266095 ARk E
2 RS ¥ 3904 [ 7 55 69. 98 1235654 Rk sE
2 RS 65 3905 [ 7 53 69. 79 1223436 KikE
SRR 6k 3906 i3] = 89.13 1605520 ik e
ZJEFERIBE 614 4001 R = 89. 13 1614789 ARk E
2 RIS 65 4002 % i 69. 79 1259936 Kk E
2 RS 6H5 4003 % i 5 69. 98 1265045 ik E
2 RIS 65 4004 [ i 69. 98 1234604 ARk E
2 RS 6H5 4005 [ 7 55 69. 79 1222389 Rk E
ZJa PR3 61 4006 [ = 89.13 1604183 ik e
2 AR 6k 4101 ] = 89. 13 1613452 ARk E
TR 61 4102 R ) 69. 79 1258889 KiksE
2 RIS 65 4103 5 i 5 69. 98 1263996 ik E
2 RIS 6H5 4104 [ 7 53 69. 98 1233554 ik e
T FERIBE 61 4105 [ )5 69. 79 1221342 R E
7 FERBE 61 4106 (] = 89.13 1602846 KikE
2 R 6k 4201 #Ed = 89.13 1612115 ik e
ZJEFERIBE 61 4202 L )57 69. 79 1257842 ARk E
ZJEFERIBE 61 4203 L ) 69. 98 1262946 Kk E
ZJa FERBE 61 4204 [ 1 69. 98 1232505 KiksE
2 RIS 65 4205 [} 7 55 69. 79 1220295 ARk E
B JEFERBE 61 4206 [ = 89.13 1601509 RifkE
7 FEABE 61 4301 R = 89.13 1610779 KiksE
2 RIS 65 4302 5 i 69. 79 1256795 ARk E
B FERIBE 61 4303 R ) 69. 98 1261896 R TE
7 FERBE 6% 4304 [ 5 5 69. 98 1231455 KikE
2 RIS 615 4305 [ 7 55 69. 79 1219248 HKikE
ZJEFERIBE 61 4306 ] = 89.13 1600172 Rk sE
ZJE FERBE 61 4401 i = 89.13 1609442 KikE
2 RIS 6H5 4402 5 i 5 69. 79 1255748 ik E
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2 RIS 6H5 4403 % 7 5 69. 98 1260847 K E
2 RIS 6H5 4404 [ i 69. 98 1230405 ARk E
ZJE FERBE 61 4405 ] 5 5 69. 79 1218201 KikE
2 TR 61k 4406 i3] =5 89.13 1598835 ik e
AR 6k 4501 ] = 89. 13 1608105 ARk E
2 RS 6H5 4502 5 i 69. 79 1254702 KikE
2 RIS 6H5 4503 % i 5 69. 98 1259797 i E
2 RIS 615 4504 [ i 69. 98 1229356 ARk E
2 RS 615 4505 [ 7 55 69. 79 1217155 RikE
PR3 61 4506 (] = 89.13 1597498 ik e
2 R 6k 4601 i = 89. 13 1606768 Kk E
2 RIS 65 4602 % i 69. 79 1253655 R E
2 RS 65 4603 5 i 5 69. 98 1258747 RIEE
2 RIS 6H5 4604 [ 7 55 69. 98 1228306 ik e
2 RIS 65 4605 [ 5 69. 79 1216108 ARk E
B FERBE 61 4606 (] = 89.13 1596161 KikE
ZJEFERIBE 614 4701 A = 89. 13 1605431 ik E
2 RIS 65 4702 5 i 69. 79 1252608 ARk E
2 RS 65 4703 % i 69. 98 1257697 KikE
2 RIS 65 4704 [ 7 53 69. 98 1227256 KiksE
2 RIS 65 4705 [ Wil 69. 79 1215061 ARk E
T FERIBE 61 4706 ] = 89. 13 1594824 R TE
ZJEFERIBE 61 4801 R = 89. 13 1604094 KikE
2 RIS 65 4802 5 7 69. 79 1251561 Kk E
2 RIS 65 4803 5 i 69. 98 1256648 AR E
2 RS 65 4804 [ 7 55 69. 98 1226206 KikE
2 RIS 6H5 4805 [ 7 55 69. 79 1214014 KikE
SRR 6k 4806 i3] = 89.13 1593487 Rk sE
B RIS 614 4901 R = 89. 13 1602757 KikE
2 RIS 6H5 4902 % i 5 69. 79 1250514 ik E
2 RIS 615 4903 5 i 69. 98 1255598 ARk E
2 RS 615 4904 [ 7 55 69. 98 1225157 RikE
ZJa FERBE 61 4905 [ 5 69. 79 1212967 ik e
2 R 6k 4906 i3] = 89.13 1592150 HKiksE
2 RIS 65 5002 % i 69. 79 1249467 R E
2 RIS 615 5003 5 i 5 69. 98 1254548 KiEE
2 RIS 6H5 5004 [ 7 5 69. 98 1224107 ik E
2 RIS 6H5 5005 [ i 69. 79 1211920 ARk E
B JE FERBE 61 5006 (] = 89.13 1590813 KikE
ZJa FEABE 61 5101 i = 89.13 1600083 KiksE
2 RIS 65 5102 5 i 69. 79 1248420 ARk E
2 RS 65 5103 % i 69. 98 1253499 KikE
7 FERBE 61 5104 ] 1 69. 98 1223057 KiksE
2 RIS 65 5105 [ Wil 69. 79 1210873 ARk E
ZJEFERBE 61 5106 PR = 89.13 1589476 Rk sE
2 RS TH 203 5 i 5 69. 73 1192469 RiEE
2 RIS THE 204 [ 5 55 69. 73 1175246 ik e
2 RIS THE 205 [ 5 69. 54 1162030 ARk E
ZJE FERBE T 206 (] = 88. 76 1468290 LU SE
2 TR T 301 g = 88. 76 1558292 Rk E
2 RIS THE 302 5 i 69. 54 1213072 ARk E
2 RS THE 303 5 i 69. 73 1221407 KikE
ZJEFERIBE T 305 775 ) 69. 54 1190889 ik E
2 AR THi 306 U] = 88.76 1540629 ARk E
TR T 401 R = 88. 76 1559624 KiksE
2 RIS THE 402 5 i 5 69. 54 1214115 ik E
2 RIS THE 403 5 7 5 69. 73 1222453 Kk E
T FERIBE T 404 [ )5 69. 73 1205230 R E
ZJEFERIBE Tk 405 [ 1 ) 69. 54 1191932 KiEE
2 R THi 406 7iE = 88. 76 1541961 ik e
ZJEFERIBE T 501 R = 88. 76 1560955 ARk E
2 RS THE 502 % 5 69. 54 1215158 Kk E
2 RIS TH 503 5 i 5 69. 73 1223499 Kk E
2 RIS THE 504 [ i 69. 73 1206276 ARk E
BRI T 505 [ L 69. 54 1192975 KikE
7 FEABE T 506 (] = 88. 76 1543292 KiksE
2 AR T 601 g = 88. 76 1562287 Rk E
2 RS T 602 PR 5 b5 69. 54 1216202 R TE
2 RS THE 603 5 i 5 69. 73 1224545 KiEE
2 RIS THE 604 [ 7 5 69. 73 1207322 ARk E
ZJEFERIBE T 606 [l = 88. 76 1544623 ARk E
2 RS THE 702 % i 69. 54 1216897 Kk E
2 RIS THE 703 5 i 5 69. 73 1225242 ik E
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2 RIS THE 705 [ 7 5 69. 54 1195061 K E
ZJEFERIBE T 706 ] = 88. 76 1545955 RiksE
2 RIS THE 802 % 5 69. 54 1218288 KiEE
2 RIS TH 805 [ 7 5 69. 54 1196105 ik E
AR THi 806 U] = 88.76 1547286 ARk E
22 FEFE RIS THE 906 [z =5 88. 76 1548618 L E
ZJaFERBE T 1005 [ 5 5 69. 54 1198191 ik e
2RI THi 1006 U] = 88. 76 1549949 ARk E
2 RS THE 1105 [ 7 55 69. 54 1199234 RikE
2 TR THi 1106 i3] =5 88.76 1551280 ik e
2 RIS THE 1302 5 7 5 69. 54 1224546 Kk E
SRR THi 1306 [l = 88. 76 1553943 R E
2 RS THE 1405 [ 7 55 69. 54 1202363 KikE
2 AR THi 1406 i) = 88. 76 1555275 ARk E
2 RIS THE 1805 [ 5 69. 78 1210351 ARk E
B FERBE T 1806 (] = 89. 12 1566484 KikE
ZJa PR3 T 1906 (] = 89. 12 1568712 KikE
2 RIS THE 2105 [ i 69. 78 1215585 ARk E
2 RS TH 2203 % i 69. 97 1249052 KikE
2 RIS THE 2405 [ 7 53 69. 78 1220818 KiksE
2 AR THi 2406 TR = 89. 12 1579852 Rk sE
2 RS THE 2605 [ 7 55 69. 78 1224307 Rk sE
2 RS THE 2705 [ 7 53 69. 78 1226052 KikE
2 RIS THE 2905 [ 5 55 69. 78 1229541 HKikE
2 RIS THE 3005 [ 7 53 69. 78 1231285 Rk sE
ZJE FERBE T 3106 (] = 89. 12 1595448 KikE
2 RIS THE 3205 [ 7 55 69. 78 1234774 KikE
SRR THi 3206 i3] = 89. 12 1597676 Rk sE
2 RS THE 3305 [ 7 55 69. 78 1236519 RikE
7 FEABE T 3306 (] = 89. 12 1599904 ik e
2 RIS THE 3505 [ 7 55 69. 78 1238961 Rk E
ZJEFERBE T 3506 ] = 89. 12 1603023 RikE
2 RIS THE 3602 5 i 5 69. 78 1264710 ik E
2 RIS THE 3603 5 7 69. 97 1273191 Kk E
2 RIS THE 3605 [ i 69. 78 1241404 R E
2 RIS THE 3702 5 i 5 69. 78 1267152 KiEE
2 RIS THE 3705 [ 7 5 69. 78 1243846 ik E
ZJEFERIBE T 3706 [l = 89. 12 1609261 ARk E
B JE FERBE T 3801 R = 89. 12 1631452 KikE
ZJa FEABE T 3805 [ 7 69. 78 1246288 KiksE
AR THi 3806 U] = 89. 12 1612381 ARk E
2 RS THE 3902 % i 69. 78 1272037 KikE
7 FERBE T 3905 ] 1 69. 78 1248730 KiksE
SRR THi 3906 U] = 89. 12 1615500 ARk E
B RIS T 4001 R = 89. 12 1633235 R E
2 RS TH 4002 5 i 5 69. 78 1270990 RiEE
2 RIS THE 4004 [ 5 55 69. 97 1261157 ik e
2 RIS THE 4005 [ 5 69. 78 1247684 ARk E
ZJE FERBE T 4006 (] = 89. 12 1614163 KikE
2 TR THi 4101 #Ed = 89. 12 1631898 KiksE
2 RIS THE 4102 5 i 69. 78 1269944 ARk E
2 RS THE 4104 [ 7 55 69. 97 1260107 Rk E
ZJa PR3 T 4105 [ 5 69. 78 1246637 ik e
2 AR THi 4106 TiE = 89. 12 1612826 Rk sE
TR T 4201 R = 89. 12 1630561 KiksE
ZJEFERIBE T 4202 L ) 69. 78 1268897 ik E
2 RIS THE 4204 [ 7 53 69. 97 1259057 ik e
T FERIBE T 4205 [ )5 69. 78 1245590 R E
7 FERBE Tk 4206 (] = 89. 12 1611489 KikE
2 R THi 4301 #Ed = 89. 12 1629224 ik e
ZJEFERIBE T 4302 L )57 69. 78 1267850 ARk E
T FERBE T 4304 ] 5 5 69.97 1258008 KikE
ZJa FERBE T 4305 [ 1 69. 78 1244544 KiksE
2 AR THi 4306 TR = 89. 12 1610153 ARk E
BRI T 4401 R = 89. 12 1627888 KikE
ZJEFERIBE T 4402 L ) 69. 78 1266803 i E
2 RIS TH 4403 5 Wil 69. 97 1275290 ARk E
B JEFERBE T 4404 PR 5 5 69. 97 1256958 Rk sE
7 FERBE T 4405 [ 5 5 69. 78 1243497 KikE
2 R THi 4406 i3] = 89. 12 1608816 HKikE
ZJEFERIBE T 4501 A = 89. 12 1626551 Kk E
B FERIBE T 4502 L ) 69. 78 1265757 Kk E
2 RIS THE 4503 5 i 5 69. 97 1274241 ik E
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2 RIS THE 4504 [ 7 5 69. 97 1255909 K E
2 RIS THE 4505 [ i 69. 78 1242450 ARk E
ZJE FERBE T 4506 (] = 89. 12 1607479 KikE
2 TR THi 4601 #Ed = 89. 12 1625214 ik e
2 RIS THE 4602 5 i 69. 78 1264710 ARk E
2 RS THE 4603 5 i 69. 97 1273191 KikE
ZJaFERBE T 4604 [ 5 5 69.97 1254859 ik e
2 RIS TH 4605 [ i 69. 78 1241404 ARk E
B JEFERBE T 4606 [ = 89. 12 1606142 RikE
ZJEFERIBE T 4701 R = 89. 12 1623877 ik E
2 RIS THE 4702 5 7 5 69. 78 1263663 Kk E
2 RIS TR 4703 % i 69. 97 1272142 R E
2 RS THE 4704 [ 7 55 69. 97 1253810 KikE
2 RIS THE 4705 [ 7 55 69. 78 1240357 ik e
ZJEFERBE T 4706 [ = 89. 12 1604805 Rk sE
B FERBE T 4801 R = 89. 12 1622540 KikE
2 RS THr 4802 5 i 5 69. 78 1262617 ik E
2 RIS THE 4803 5 i 69. 97 1271092 ARk E
2 RS TH 4804 [ 7 55 69. 97 1252760 RifkE
2 RIS THE 4805 [ 7 53 69. 78 1239310 KiksE
2 AR THi 4806 TR = 89. 12 1603469 Rk sE
T FERIBE T 4901 A = 89. 12 1621204 R TE
2 RS THE 4902 5 i 5 69. 78 1261570 KiEE
2 RIS THE 4903 5 7 69. 97 1270043 Kk E
2 RIS THE 4904 [ 7 53 69.97 1251711 Rk sE
ZJE FERBE T 4905 ] 5 5 69. 78 1238263 KikE
2 AR THi 4906 7iE = 89. 12 1602132 KikE
SRR THi 5001 ] = 89. 12 1619867 ARk E
2 RS THE 5002 % i 69. 78 1260523 KikE
2 RIS THr 5003 % i 5 69. 97 1268993 ik E
2 RIS THE 5004 [ 7 55 69.97 1250661 Rk E
2 RS THE 5005 [ 7 55 69. 78 1237217 RikE
ZJa FERBE T 5006 (] = 89. 12 1600795 ik e
2 R THi 5101 *Ed = 89. 12 1618530 HKiksE
2 RIS THE 5102 % i 69. 78 1259477 R E
2 RIS THE 5103 5 i 5 69. 97 1267944 KiEE
2 RIS THE 5104 [ 7 5 69. 97 1249612 ik E
2 RIS THE 5105 [ i 69. 78 1236170 ARk E
B JE FERBE T 5106 (] = 89. 12 1599458 KikE
ZJa FEABE 8t 201 i = 88. 76 1496249 KiksE
2 RIS SH 204 [ i 69. 73 1182219 ARk E
% RS 8% 301 N =) 88.76 1568589 Rk E
2 RIS SHk 302 5 i 5 69. 54 1224477 ik E
2 RIS SH 304 [ Wil 69. 73 1211157 ARk E
2 RS SH 305 [ i 69. 54 1197843 R E
7 FERBE i 306 (] = 88. 76 1551635 KikE
2 RIS SH 402 5 7 5 69. 54 1225520 Kk E
2 RIS SH 403 % 5 69. 73 1229426 ARk E
B FERIBE 8t 404 P Fg ) 69. 73 1212203 Kk E
2 RS SH 405 [ 7 55 69. 54 1198886 KiksE
2 RIS SH5 504 [ i 69. 73 1213249 ARk E
2 RS SH 604 [ i 69. 73 1214295 KikE
2 RIS SH 702 5 i 5 69. 54 1228649 ik E
2 RIS SH 3505 [ i 69. 78 1245939 ARk E
ZJEFERBE 8% 3705 [ 5 5 69. 78 1250824 RikE
Z o PR3 8% 3905 ] 5 69. 78 1255708 ik e
2 RIS SH 4002 5 7 5 69. 78 1281387 Kk E
T FERIBE 8t 4005 [ )5 69. 78 1254662 R E
7 FERBE 8t 4006 (] = 89. 12 1625214 KikE
2 RIS SH 4102 % i 5 69. 78 1280341 ik E
ZJEFERBE 8% 4105 ViR 5 5 69. 78 1253615 Rk sE
T FERBE i 4106 (] = 89. 12 1623877 KikE
ZJEFERIBE 8t 4202 L ) 69. 78 1279294 Kk E
2 RIS SH 4204 [} 7 55 69. 97 1266054 ARk E
B JEFERBE 8% 4205 [ 5 5 69. 78 1252568 RifkE
ZJEFERIBE 8t 4302 L ) 69. 78 1278247 i E
2 RIS SH 4304 [ Wik 69.97 1265005 RiksE
B JEFERBE 8% 4305 PR 5 5 69. 78 1251522 Rk sE
7 FERBE 8t 4306 (] = 89. 12 1621204 KikE
2 R 8k 4401 *Ed = 89. 12 1636889 HKikE
ZJEFERIBE 8t 4402 A )7 69. 78 1277201 ARk E
ZJE FERBE 8% 4404 ] 5 5 69. 97 1263955 KikE
2 RIS SH 4405 [ 7 53 69. 78 1250475 KikE
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SRR 8k 4406 i3] = 89. 12 1619867 ik e
2 RIS SH 4502 % i 69. 78 1276154 ARk E
2 RIS SH 4504 [ 7 55 69. 97 1262906 KikE
2 RIS SH 4505 [ 7 55 69. 78 1249428 ik e
AR 8k 4506 U] = 89. 12 1618530 ARk E
2 RS SH 4602 5 i 69. 78 1275107 KikE
ZJaFERBE 8% 4605 [ 5 5 69. 78 1248382 ik e
2RI 8k 4701 ] = 89. 12 1632878 ARk E
2 RS SH 4702 % i 69. 78 1274061 KiksE
2 RIS SHE 4704 [ 7 53 69.97 1260807 ik e
2 RIS SH 4705 [ 5 55 69. 78 1247335 HKikE
T FERIBE 8t 4706 [ = 89. 12 1615856 R E
B FERIBE 8t 4801 R = 89. 12 1631541 RIEE
2 RIS SH 4802 5 i 5 69. 78 1273014 ARk E
2 RIS SH 4805 [ 5 69. 78 1246288 ARk E
B FERBE 8t 4806 (] = 89. 12 1614520 KikE
ZJEFERIBE 8H 4901 A = 89. 12 1630205 ik E
2 RIS SH 4902 5 i 69. 78 1271967 ARk E
2 RS SH 4904 [ 7 55 69. 97 1258708 RifkE
2 RIS SHk 4905 [ 7 53 69. 78 1245241 KiksE
2 AR 8k 4906 TR = 89. 12 1613183 Rk sE
T FERIBE 8t 5001 A = 89. 12 1628868 R TE
2 RS SHk 5002 5 i 5 69. 78 1270920 KiEE
2 RIS SH 5005 [ 5 55 69. 78 1244195 HKikE
ZJEFERIBE 8t 5006 PR = 89. 12 1611846 Rk sE
ZJE FERBE 8t 5101 i = 89. 12 1627531 KikE
2 RIS SH 5102 5 i 5 69. 78 1269874 ik E
2 RIS SH5 5103 5 i 69. 97 1273891 ARk E
2 RS SH 5104 [ 7 55 69. 97 1256609 RikE
7 FEABE 8% 5105 [ 5 5 69. 78 1243148 ik e
2RI 8k 5106 TR = 89. 12 1610509 Rk E
T RIS 9tk 201 R = 88. 77 1494109 KiksE
2 RIS Ok 202 5 i 5 69. 55 1192313 ik E
2 RIS Ok 203 % 5 53 69. 74 1200591 HKiksE
2 RIS Ok 204 [ i 69. 74 1177786 R E
2 RIS Ok 205 [ 7 55 69. 55 1164562 KikE
2 AR bk 206 i3] = 88. 77 1507691 KiksE
ZJEFERBE 9t 301 A = 88.77 1566457 Rk
2 RS 9k 302 % 5 69. 55 1221176 Kk E
2 RIS Ok 303 5 i 5 69. 74 1229533 ik E
2 RIS Ok 304 [ i 69. 74 1206728 ARk E
2 RS Ok 305 [ i 69. 55 1193426 KikE
7 FERBE 9 306 (] = 88. 77 1544531 KiksE
SRR ok 401 ] = 88. 77 1567788 ARk E
2 RIS o 402 PR 5 b 69. 55 1222219 R E
2 RS Ok 403 5 i 5 69. 74 1230579 RiEE
2 RIS Ok 404 [ 5 55 69. 74 1207774 ik e
2 RIS Ok 405 [ 5 69. 55 1194469 ARk E
ZJE FERBE 9 406 (] = 88. 77 1545862 KikE
2 RS 9k 502 % i 5 69. 55 1223262 ik E
2 RIS Ok 504 [ i 69. 74 1208820 ARk E
2 RS Ok 505 [ i 69. 55 1195512 KikE
ZJa PR3 9k 506 [ = 88. 77 1547194 ik e
2 RIS 9k 604 [ i 69. 74 1209867 ARk E
TR 9k 605 [ ) 69. 55 1196555 KiksE
Z o PR3 9 606 (] = 88. 77 1548525 ik e
2 RIS Ok 702 5 7 53 69. 55 1225349 LUt E
T FERIBE 9t 704 [ )5 69. 74 1210913 R E
ZJEFERIBE 9k 705 [ 1 ) 69. 55 1197599 KiEE
2 R bk 706 7iE = 88. 77 1549857 ik e
ZJEFERIBE 9t 804 [ )57 69. 74 1211959 ARk E
ZJEFERIBE 9t 805 i) ) 69. 55 1198642 Kk E
ZJa FERBE 9k 806 PR = 88. 77 1551188 KiksE
2 AR ok 906 U] = 88. 77 1552520 ARk E
B JEFERBE 9t 1004 [ 5 5 69. 74 1214051 RifkE
7 FEABE 9 1006 (] = 88. 77 1553852 KiksE
2 RIS 9k 1104 [ 7 53 69. 74 1215097 RiksE
B JEFERBE 9t 1105 PR 5 5 69. 55 1201772 Rk sE
7 FERBE 9k 1106 (] = 88. 77 1555183 KikE
2 RIS 9k 1205 [ 7 55 69. 55 1202815 HKikE
ZJEFERIBE 9t 1206 ] = 88. 77 1556515 Rk sE
ZJE FERBE 9tk 1305 ] 5 5 69. 55 1203858 KikE
2 RIS 9k 1405 [ 7 53 69. 55 1204901 KikE
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SRR bk 1406 i3] =5 88. 77 1559178 ik e
2 RIS ok 1505 [ i 69. 55 1205945 ARk E
AR bk 1506 i3] =5 88. 77 1560509 KikE
2 RIS 9k 1605 [ 7 5 69. 55 1206988 ik E
AR bk 1606 U] = 88. 77 1561841 ARk E
2 RS Ok 1805 [ 7 55 69. 78 1212724 RikE
2 TR ok 1906 i3] =5 89.13 1572631 ik e
2 RIS 9k 2005 [ i 69. 78 1216213 ARk E
2 AR bk 2106 [l =5 89. 13 1577087 KiksE
2 RIS Ok 2205 [ 7 53 69. 78 1219702 ik e
2 RIS Ok 2305 [ 5 55 69. 78 1221446 HKikE
SRR bk 2306 [l = 89. 13 1581544 R E
2 RS Ok 2405 [ 7 55 69. 78 1223191 KikE
2 AR bk 2406 i) = 89. 13 1583772 ARk E
2 RIS 9k 2505 [ 5 69. 78 1224935 ARk E
2 AR bk 2506 i3] = 89.13 1586000 KikE
2 RS Ok 2705 [ 7 53 69. 78 1228424 KikE
AR ok 2706 U] = 89. 13 1590457 ARk E
2 RS Ok 2905 [ 7 55 69. 78 1231913 RifkE
2 AR ok 2906 i) =5 89. 13 1594913 i E
2 RIS 9k 3005 [ Wil 69. 78 1233658 ARk E
2 AR bk 3006 i) = 89. 13 1597142 R TE
2 RS Ok 3104 [ 7 53 69. 97 1248842 KikE
2 RIS 9k 3105 [ 5 55 69. 78 1235402 HKikE
2 RIS Ok 3205 [ 7 53 69. 78 1237147 Rk sE
ZJE FERBE 9 3206 (] =5 89.13 1601598 KikE
2 RIS 9k 3305 [ 7 55 69. 78 1238891 KikE
2 RIS Ok 3504 [ 5 55 69. 97 1254789 Rk sE
2 RS Ok 3505 [ 7 55 69. 78 1241334 RikE
2 TR ok 3506 i3] =5 89.13 1606946 ik e
2 RIS 9k 3605 [ 7 55 69. 78 1243776 Rk E
22 FEFERISE ok 3701 Kig =5 89. 13 1635200 ik sE
ZJa FERBE 9tk 3704 [ 5 69.97 1259687 ik e
2 RIS Ok 3705 [ 7 69. 78 1246218 Kk E
SRR bk 3706 [l = 89. 13 1613185 R E
2 RIS Ok 3804 [ 7 55 69. 97 1262136 KikE
2 RIS O 3805 [ 7 5 69. 78 1248661 ik E
SRR bk 3806 i) = 89. 13 1616305 ARk E
2 RS 9k 3902 % 5 69. 79 1279128 Kk E
ZJa FEABE 9 3905 [ 7 69. 78 1251103 KiksE
22 FEFE RIS ok 3906 ViR =5 89. 13 1619424 ke
2 RS Ok 4002 % i 69. 79 1278081 KikE
7 FERBE 9tk 4004 ] 1 69. 97 1263536 KiksE
2 RIS 9k 4005 [ Wil 69. 78 1250056 ARk E
2 AR ok 4006 [l = 89. 13 1618087 R E
2 TR ok 4101 hE =5 89. 13 1638765 RiEE
2 RIS Ok 4102 5 7 5 69. 79 1277034 Kk E
2 RIS Ok 4104 [ 5 69. 97 1262486 ARk E
ZJE FERBE 9tk 4105 ] 5 5 69. 78 1249010 KikE
2 TR bk 4106 i) = 89. 13 1616750 ik E
SRR ok 4201 i = 89. 13 1637428 ARk E
2 RS Ok 4202 5 i 69. 79 1275987 KikE
ZJa PR3 9% 4204 [ 5 69.97 1261436 ik e
2 RIS 9k 4205 [ i 69. 78 1247963 ARk E
TR 9tk 4206 [ =5 89. 13 1615413 KiksE
2 TR ok 4301 #Ed =5 89.13 1636091 ik e
2 RIS Ok 4302 5 7 5 69. 79 1274941 Kk E
T FERIBE 9t 4304 [ )5 69. 97 1260387 R E
7 FERBE 9tk 4305 ] 5 69. 78 1246916 KikE
2 R bk 4306 7iE =5 89.13 1614076 ik e
SRR bk 4401 HEE = 89. 13 1634754 ARk E
ZJEFERIBE 9t 4402 L ) 69. 79 1273894 Kk E
ZJEFERIBE 9k 4403 L ) 69. 97 1282218 Kk E
2 RIS Ok 4404 [} 7 55 69. 97 1259337 ARk E
B JEFERBE 9t 4405 [ 5 5 69. 78 1245869 RifkE
7 FEABE 9 4406 (] =h 89.13 1612739 KiksE
2 AR ok 4501 ] = 89. 13 1633418 ARk E
B FERIBE 9tk 4502 R ) 69. 79 1272847 R TE
7 FERBE 9tk 4504 [ 5 5 69. 97 1258288 KikE
2 RIS 9k 4505 [ 7 55 69. 78 1244823 HKikE
ZJEFERIBE 9tk 4506 [l = 89. 13 1611402 ARk E
B FERIBE 9 4602 L ) 69. 79 1271800 Kk E
2 RIS 9k 4604 [ 7 53 69. 97 1257238 KikE
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2 RIS Ok 4605 [ 7 5 69. 78 1243776 K E
ZJEFERIBE 9tk 4606 ) =) 89. 13 1610065 Kk E
AR bk 4701 #Ed =5 89.13 1630744 KikE
2 RIS 9k 4702 5 7 5 69. 79 1270753 ik E
2 RIS Ok 4704 [ i 69. 97 1256189 ARk E
2 RS Ok 4705 [ 7 55 69. 78 1242729 RikE
2 TR ok 4706 i3] =5 89.13 1608729 ik e
2 JE BRI A otk 4801 AR =) 89. 13 1629407 Kk E
2 RS 9k 4802 % i 69. 79 1269706 KiksE
2 RIS Ok 4803 5 i 5 69. 97 1278019 ik E
2 RIS Ok 4804 [ 5 55 69. 97 1255139 HKikE
2 RIS Ok 4805 [ i 69. 78 1241683 R E
B FERBE 9 4806 (] = 89.13 1607392 KikE
2 AR bk 4901 *Ed = 89.13 1628070 ik e
2 RIS 9k 4902 % 5 69. 79 1268660 ARk E
2 RS Ok 4903 % 5 69. 97 1276970 Rk E
2 RS Ok 4904 [ 7 53 69.97 1254090 KikE
2 RIS O 4905 [ i 69. 78 1240636 ARk E
B JEFERBE 9 4906 [ = 89.13 1606055 RifkE
ZJa FERBE 9 5001 R = 89.13 1626733 KiksE
2 RIS 9k 5002 % i 69. 79 1267613 ARk E
2 RS Ok 5004 [ 7 55 69. 97 1253040 Rk sE
2 RS Ok 5005 [ 7 53 69. 78 1239589 KikE
SRR bk 5006 i3] = 89.13 1604718 HKikE
ZJEFERIBE 9tk 5101 R = 89. 13 1625396 AR E
2 RS Ok 5102 % i 69. 79 1266566 Kk E
2 RIS 9k 5104 [ 7 55 69.97 1251990 KikE
2 RIS Ok 5105 [ 5 55 69. 78 1238543 Rk sE
B FERBE 9 5106 (] = 89.13 1603381 RikE




